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1.

o1 FETEs 3 O TS F T TH 6 aRade vared, fSEd ger urdw 0.25,
¥ 3R AR FH IS A7 dAT 3 (Beas) §, O R fr Shaw-afer g

In a single point turning operation with a cemented carbide and steel combination having
Taylor exponent 0.25, if the cutting speed is halved, the tool life will be

(a)
(©

3TN / Half (b) afmfrﬁa / 2 times
3-1‘I6"{If-ﬁ'/8times (d) @ﬂ@?ﬁ/leﬁmes

Ify daffra 3marA 18.3 +000/-0002 &, AT faea §1

Expressing a dimension as 18.3 0.00/-0002 s 3 case of

(a)

UhHUTede HeddT / unilateral tolerance

(b) EIIYTRA HEACT/ bilateral tolerance

(c) HITHET 3MATH / limiting dimensions

(d) I THT/ all of the above
m(mﬁ)mﬁmﬁmmmwmmm

In a psychometric chart, what does vertical downward line represent

(@)
(b)
©)
(d)

TadrT Tt 9T / Sensible cooling process
TGISH Hqﬁ?l' UTeRAT / Adiabatic saturation process

3G TeRToT 9fehaT / Humidification process
TerTaRTor UfshadT / Dehumidification process

37TeRTer ol gerdi H druHE 98 | ITde LA

Dynamic viscosity of most liquids with rise in temperature

(a)
(b)
{c)
(d)

Sgar g / Increases

geal g / Decreases k .
379$TTTA / Remains unaftected
3-TFF-TID?5I'~’I / Unpredictable
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SET

Sfel-ahetidel fawar (eefrer) R Bl

The Joule-Kelvin expansion (throttling) process is.
(a) 3cHHAUI 9ishAT/ Reversible process

(b) 31'@'@-»1?011?1 ufehdT / Irreversible process

() TAAY 9fehdT / Isothermal process

(d) TH-IIIAS TfRAT/ [sochoric process

TS aE F PEATR SRRaT B §
Rankine cycle consists of following processes
() & wadeeish 3R &Y feeries e wishare /
Two isentropic and two constant volume processes
() &Y AU 3T & TEeRTe & Yk /
Two isentropic and two constant pressure process
() & asard AR et R ard gfshare /
Two isothermal and two constant pressure process
(@) & gAY 3R &Y R 31 FieRard /

Two isothermal and two constant volume process

dI9HTE &7 Sl SHTS &7 g
What is SI unit of Temperature?

(a) WR=AGISC / Fahrenheit (b) AT/ Centigrade
(c) hiedd / Kelvin (@) YA / Rankine
AR Bady sedd # ifAe g

The austenitic stainless steel contains.

@ 18% SITATHA 31T 8 % f¥ohet / 18% chromium and 8 % Nickel
() 8% FITHTA 31T 18 % fAHaT / 8% chromium and 18 % Nickel
© 18% riaras 3R 18 % fidhel / 18% chromium and 18 % Nickel
@) 8% EIERT 3% 8 9% F¥eT / 8% chromium and 8 % Nickel
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9.

10.

11.

12.

&l WO & Hedled ddfish H, qUOT g 1.5 §R § 3R g siaReE wehaw &
foeRoT g1 54 IR §1 AR @ woT T dgdfe afkar yoer § A Few e
& SUe e

In two stage reciprocating compressor, suction pressure is 1.5 bar and delivery pressure is
54 bar with a prefect inter cooler. If both stages follow same polytropic process, the
intermediate pressure will be equal to

(@) 69/ bar (b) 99R/bar ()  27.759R/ bar (d) 9V2dR/ bar

frelr FEe-aR &1 dUE 1250C T §elv 9 W RaET de9s i e &Y s
@ fAER & quis o= 12 x 106 9fd 330 Afcaza, SR $r 3mf@w &as L= 3w
gl

Calculate the change in length of a steel bar whose temperature is raised by 125%C. Coefficient
of linear expansion a= 12 x 10 per degree Celsius, initial length of bar L = 3 meters.

@ 0.045%d /cm () 045¥fi/com () 4.5 /cm (d) 4503 /cm

el SEdl Jiq &1 wermar ¥ falr offd o @ S5 vaig avd awg & varid g &,
ar faerer fFar B

The heat flows from a cold body to a hot body with aid of an external source. The statement is
given by.

(a) Hfead /Kelvin (b) [T/ ]Joule

© FaTT/ blaussius (d) 3’[—@'@?/ Gay-Lussac

o= # O Fie T Fua o

Which of the following is a false statement?

(a) ol o SeATTTAS T T FSHT E6TaT 100% 18T 8 el ¥ /
No thermodynamic cycle can have thermal efficiency of 100%

() T IFHAVIT T A &Y I Raer & Fr7 vanfod giar ¥ 3R T gue s
GETATEIAT |/

All reversible cycles operating between the same two thermal reservoirs have same
thermal efficiency

(c)  IHIHHAYIT Teh hT FSHT Z&TAT ScshaTviig =eh T JoteAT & 8 BT &1 /
Thermal efficiency of an irreversible cycle is more than a reversible cycle

(d) SUYeFT Fe/ All the above

5 Post Code No. 03
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13. PFATATET Ghedal & YR T Saten g foram &1 /

Bernoulli’s equation is derived based on the following assumptions

14.

15.

(1)

(i)

(iii)

(iv)

Y
(b)
(c)
(d)

oo STaTE & FsiT B g1fe oTE el & 3R varg AT AT e | /

There is no loss of energy in a liquid flow and flow is uniform

TaTE EUTcHE ¢/

The flow is rotational

I 3R &7 e 3 A, G5 FATg TR i A el I 7ot HAT 61/
Except gravity and pressure forces, no external force acts on liquid flow
YaTg 2aT, ST vaE gl /

The flow is viscous, incompressible flow

(1) & (iii)

(D), (ii) & (iv)

(i1) & (iii)

(1), (i) & (iv)

e are 1 99T oA ST §

Gantt chart is used for

(@)
(b)
(c)
(d)

ard-gdr feRIFUT/ inventory control
ATl Uatle / material handling

3cUGH 3Heishd / production schedule
7ol 39T / machine utilisation

ﬁﬁarmﬂﬁ%aﬁ%ﬂﬁwmﬁumw T HlaT § A 7 B H

THEAE [AaRd o) FU-wl= W, 5@ w=THEAW [Fakd R AR 1= §e2g dF &
i, 79 B3R A & 99 3feas fRiver &1 rerd F4r &

Two identical simply supported beams in which beam ‘A’ carries a central load of W and beam
"B’ carries a uniformly distributed load such that wl = W, where w = uniformly distributed
load and I = span of the identical beams, then the ratio of maximum deflection between
Band A

(a)
(b)
(c}
(d)

5/8 B
8/5
5/4
4/5
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16. ST & YR JdUT 3=TF 34§ & a1y Hered Hil
Match the following related to type of steel and its product

A, FATEAT/ Mild steel 1. g2itg1 / Hammers

B. A ST/ Tool steel P %E‘\E/ Crane hooks

C. HEI PIeT STITA / Medium carbon steel 3. AT ST/ Milling cutters

D. 3= hlee] 3L/ High carbon steel 4. aIfolTsae &9 / Commercial beams
(@) A-3,B-4,C-1,D-2 ()  A-4,B-1,C-2,D-3

(¢} A-3,B-2,C-4,D-1 (d) A-4,B-3,C-1,D-2

17. fo= =1 A= &9

Match the following

A.  TIdT/ Ductility 1. T9HTE GIET0T / Impact test
B. FoRdr/ Toughness 2. #Ifd 9O8IUT / Fatigue test

C. Yg« HH T/ Endurance limit 3. < YET0T/ Tension test

D. O faRIeT/ Resistance to penetration 4. FORCT IINETOT/ Hardness test
(@) A-3,B-2,C-1,D-4 (b)  A-4,B-2,C-1,D-3

(© A-3,B-1,C-2,D-4 ()  A-4,B-1,C-3,D-2

18. &9 YHed & 3-IelT 3d F TEhe, dloc X dfhade T HAeg ¥ &« 3Ted &
SelATR TAT T S19T a7 &, o) e Gafaq gl

A hemi spherical end of pressure vessel is fastened to cylindrical portion of pressure vessel
with help of gasket, bolts and lock nuts. The bolts are subjected to.

(a) et Uicldel / Tensile stress -

(o) TSI Uicdael / Compression stress
(c) FUFYUT YA« / Shear stress

(d) T afdeer / Bearing stress

7 Post Code No. 08
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€.

20.

21.

22.

SHH H Pl AT AT MFAHE AR ST AlZRA G AUT UESHE AT p F ST FE F
g gl

Which of the following is the relation between Young’s modulus E and rigidity modulus G and
poison’s ratio p?

(@ E=2uG(1+p)
() E=2pG/(1+p)
© E=2G(1+p)
(@ E=pG(1+p)

Jehe dige # JONg STt & 3R faFaa gl

Thrust generation in the rocket propulsion is based on the following :
(@) et sl a1fd T g @TH / Newton second law of motion

(b) 3cCelldsd d¢T / Buoyance force

(c) UEehel ohl [Tl / Pascal’s law

(d) Fé{c*,a_-l'?ﬁ ITf T AIERT 9 / Newton third law of motion

20 fellamA X 1 Us o alfdsl Hdg W @r J1ar g a%g 3R adg & & e &difgw
gNOT I[0Tieh 3N I ENUT IO FAA: 0.5 3048, dF axg F &Afyer e F wfy
JaTd A & wgeAaH oo (=10 m/sec? T AUR &R §T) 1 3aRTFr §

A block of mass 20 Kg is placed on a horizontal surface. Co-efficient of static friction and
coefficient of kinematic friction between the block and surface are 0.5 and 0.4 respectively.
What is the minimum force required to be applied on the block in horizontal direction so that
the block just starts to move. Consider g=10 m/secZ.

(a) 10N (by 8N
(c) BON (dd 100N

39T wfaferar exarser & quifsy (F¥adh) giv Rfvaa ik afasm= sas 20 k/Kg 3R
40 kJ/Kg sh#AT: &, d @xoT giafshar 1 3 gl

In an impulse reaction turbine, the enthafpy drop in fixed and moving blades are 20 kJ/Kg and
40 k] /Kg respectively. Then the degree of reaction of stage is.

(@ 0.33 (by 0.5
(c) 0.66 (dy  0.75

8 Post Code No. 08



P AT 4T 3ARET e YR/ SATISH DHAWAN SPACE CENTRE SHAR SET
3’@4%

dehellehl TETIF (i3 S fad)) / TECHNICAL ASSISTANT C

{MECHANICAL ENGINEERING)

23.

24,

25.

26.

Gordl WlIgT (e 8E) 3 st 1 gfareraar

Percentage of carbon in Cast Iron is.

(@ 0% (b)y 0tol1% (c) 1% to 2% (d) 2% to4%
AT &1 fAae wY

Match the following

A, IIAAGIFH / Youngs modulus 1. 319%90T fashidy / Shear strain

B. RIS Algged / Modulus of rigidity 2. &&= fapfcr / Normal strain

C.  §oh ASYSH / Bulk modulus 3. 3J9¥Y [l / Transverse strain

D. 9I$EM 3%9Td / Poisson’s ratio 4. HITAHAT fdhicd / Volumetric strain

(@ A-1,B-2,C-3,D-4
() A-2,B-1,C-3, D-4
(¢) A-2,B-1,C-4,D-3
(d) A-1,B-2,C-4,D-3

ﬁ%ﬂﬁ-m%wyﬂﬁwﬁfﬁaﬁwﬁmﬁﬁmﬁmméﬁ?ﬁ
gl &l

Which of the following has the highest lateral strain when there is a longitudinal strain
because of longitudinal force?

(a) FI’I%T / Iron

(by I&¥ /Rubber
(c) arar/ Copper
(d) 3T/ Bronze

FAT 9SS & & e, oredt vk @aer iR g 3w wm-dwud # §ae and
AH EIT &1 WA AT F IHicReh AR, AE A HT 3T @ &, ar et &
3, Sl g il et § gk g

Two shafts of same material, one hollow and other solid cross section have equal outer
diameter. The inner diameter of hollow shaft is half the outside diameter, then the ratio
(hollow to solid) of Torques that can be transmitted by these two shafts is.

@ 15/16 b 1/16 ©  1/4 @ 1/32

9 Post Code No. 08
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27.

28.

29.

30.

AT F Agid ¥ Tafta fae & fere
Match the following related to theories of failure

A FOwgE aEey yidds g / 1. adEss e /

Max normal Stress theory Vonmises theory
B. 3T 3raqer wfdeer RAgid / 2. gerfagid/
Max shear stress theory Haigh's theory
. 3ifreras RFl s e/ 3. e UE T T /
Max Strain energy theory Guest and Tresca theory
D. - -3femaH fawguT Fat [feid / 4. Yforeu i/
Max distortion energy theory Rankines theory
(@8 A-4,B-3,C-2,D-1 (by  A-3,B-4,(C-1,D-2
() A-4,B-3,C-1,D-2 (d)  A-3,B-4,C-2,D-1

aﬁﬁma?ﬁmwm?ﬁmﬁﬁﬁmﬁmﬁm%,mmﬁwaﬁﬁ

e 3Tl HA A F

If the radius is doubled and angular speed is reduced to half of its original value, the

centrifugal force relative to its original value is
(@ 2 E;I'UTT/ 2 times (b 0.5 '{:T'U'IT/ 0.5 times
(¢) 0.27[01/0.2 times (@  0.1370m/0.1times

mmqﬁmmﬁﬁﬁqwmmﬁ, 3GH-—-- BT Bl
Gun metal which is used in Journal bearing contains.

(&) 88% Cu, 10% Sn, 2% Zn
(b) 80% Cu, 10% Zn, 10% Al
€) 85% Cu, 5% Mg, 10% Al
(d) 85% Cu, 5% Sn, 10% Pb

Tt ¥ Pl o fRufy afeser & ufthar &l

Which of the following is a solid state welding process?
(a) 3TTeh Afeg9T / Arc Welding (AW)

(b) wiayer afegeT / Resistance Weldir‘lg (RW)

(©) =¥ aTe=aT / Friction Welding (FRW)

(d) 3T Tl afe=ar / Oxy-Fuel Welding (OFW)

10
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31.

1]

33.

34.

SAYTEHT T & FAHe F Yot & 9ard =01 gl

The material of patterns in the case of investment casting is.
(a) FEAITATET I / Thermosetting resin

(o) TAAwTe¥esh / Special plastic

(c) dFF /Wax

(d) AW ST / Synthetic sand

qﬁz&ﬁzmqaﬁﬁwmm%gmﬁmﬁﬁmg%wmmﬁw
ST B

The operation of producing cup shaped parts from flat sheet metal blanks by bending and
plastic flow of metal is known as

(@) ST / Drawing (b)  ST39T /Bending
(c) IEHT/ Coining (d)  <ifhdT / Blanking

mmﬁqaﬁNmmWﬁWW%@Hmwmmﬁ,ﬁ?ﬁm
$ 0 ¥ 3R 97 B 3w garar & Ay veiferd AT STer § o 99 gan fastad 93§l

A centrifugal pump operating at N rpm develops a head of H m. if the speed is doubled and the
pump operates with same efficiency. What is the head developed by the pump?

@ 201 " w 1/2H © 4H @ 8H

AT T7 & ol exasd @ fafarse aifd & sigEr e 39§ 3EgU S A H A F
fore @1 Srar g

In general sense, water turbines may be put in the following decreasing order of specific
speeds as.

(a) TTCeleT LTS, WhiTad eXarss 3T docia Tgre /
Kaplan turbine, Francis turbine and Pelton wheel
(b) T AT, Wi eXaTSeT 3T AT ST /
Pelton wheel, Francis turbine and Kaplan turbine
© WITRY e, Yocie caiel 3T HToclel ETaTge /
Francis turbine, Pelton wheel and Kaplan turbine
(d) SRR caTET, FiesT TS 3N Yol egrel /

Francis turbine, Kaplan turbine and Pelton wheel

i1 Post Code No. 08
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35.

36.

37.

38.

3T AYHIE R FEAE T STAA dele F e, @t J @ i ar fRsng wr g
ST B

For improving the strength of steel at elevated temperatures, which of the following alloying
element is used.

(@) X/ Copper (b)  TIEEs/ Tungsten
(c) U?{Iﬁfrﬁ'aﬁf Aluminium (d) o / Zinc

o 710 ygrat & awfelr o FeR a=ar &

Buckiing load of given material depends on
() AT 31=J4I< / Slenderness ratio

(i) T JAFAT &9/ Area of cross section
(1) SeITEAT HIUIiEF/ Modulus of elasticity
(iv) maﬁqﬂ / Poisson'’s ratio

@ (1), (), (D) O (@ () &3{v)
© (i), (iii) & (iv) @ (@, (i) &(1v)

afg TaaT watia 7 FE NG oR ¥ C@rr ARG §, a1 IfeanA g M B afg
FAW AR €7 W WA I § o907 A1 § o SR Afasan aifd geh

A freely supported beam at its ends is loaded by a central concentrated load then maximum
moment is M. If the same weight be equally distributed over the beam, then its maximum
moment will be

@ M ) M/2 © 2M d) M/4
=T a1 fFea &Y

Match the following

A. 20fed / Power 1. St/ ]Joules

B. <cId/Pressure 2. &Y</ Newton

C. de /Force 3. dre / Watt

D. afde 34T/ Kinematic Energy 4. 9i¥ehdl / Pascal

(@ A-3,B-4,C-1,D-2 ®)  A-3,B-4,C-2,D-1

(¢) A-2,B-3,C-4,D-1 (d) A-2,B-3,C-1,D-4

12 Post Code No. 08
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39. TRt 9 w&faat Fr Ao w1
Match the following related to gears

A, TR TR/ Spur gears 1. IRFATA R IR-UfaS2r eitwret & o arfey gemor/

Transmit motion between non parallel and non-
intersecting shafts

HATR ATFet & oI 91T FewoT/
Transmit motion between parallel shafts

C. @ PRI/ Worm gears 3. AT emret & ofrer arfay SaoT/

Transmit motion between intersecting shafts

e

B. fgﬁl?ﬁﬁm'{/ Helical gears

D. 939 1T/ Bevel gears 4. FHTR ATFET 312797 IR-FATAIT & &gy a1y FaRor /
Transmit motion between parallel shafts or non-
parallel

(ay A-2,B-3,C-4,D-1 (b  A-3,B-4,C-1,D-2

(cy A-2,B-4,C-1,D-3 (d) A-3,B-2,C-1,D-4

40. =g f9AReT a9 p, fRdeT ew=rar 7 3R Sikerer N 1 arfa Qeolt g, ar suk Ao g
R foaRer eeoncHs dEar g

If Bearing Pressure P, Absolute Viscosity Z and Speed of journal N are dbubled, then bearing
characteristic number to its original number will be

@ 1/2/1/2 (b) 27O/ 2times (c) 1/4 /1/4 (d) 47O/ 4 times

41. HAex IS d i g — & 99 g5 B

The gear box in automobile is placed between

(3) oo 3T fafea / the clutch and differential

() e 3R &7/ the steering and engine

(¢} BTl IR Fo=T / the engine and clutch

(d) FoaT 3R gh Sdrs¢ / clutch and hooks joint

13 Post Code No. 08
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42.

43.

44,

45.

HiFeeT aNEeaT ¥ Hafdd H&T Ol & 0T &

The predominant fluid property associated with cavitation phenomena is

(a) YSo-deId /surface tension
(by dISY ST/ vapour pressure
() GedHTT Yalcd / mass density

(d) 3T YeITEAT AT / bulk modulus of elasticity

7270C A 1270C & &I TATASNT Sofel T Jhdd g&Tar Far £l

What is the maximum efficiency of an engine operating between 727%C and 1279C?

(@ 60% (b) 80%
) 30% (d) 40%

Rad #ree a% F W AU Wheiex foger et 3R Sou a9Ae & 3
0.8 &, af 3Teer GI3dT &1 B

A refrigerator based on reverse Carnot cycle works between two such temperatures that ratio
between low and high temperature is 0.8. What is COP?

(@ 2 (b)
© 4 {d)

iy & daad w0 ¥ Ffoa wRer A & G waiter A & @y e w9fr B &
3MEN & 3R AfhT Feell & Tl HEAT § 3 aRR ourd W3 MR ¥ WsR &, of
TRaT A §B & TIET0T &1 379 T

If two closely coiled helical springs A&B with the mean diameter of spring A is half of that of
spring B and having equal number of active coils and same wire diameter are subjected to
same axial load of W, then the ratio of deflection in spring A to B.

(@ 1/8 by 1/4
© 2 (d) 8

14 Post Code No. 08
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46. IRY &Y g Wl FACT & MY H & Fge Q EYd dawg THAA T F AW F I3
dT yarg &1 IR ...

If two pumps identical in all respects of delivering a discharge Q against a head H are
connected in series, resulting discharge is.

(a)
(b)
()
(d)

2H & 98 oY 2Q / 2Q against head of 2H

H & ¢l ¥ 2Q / 2Q against head of H

2 H % 9o @Y Q / Q against head of 2H

v2H & gt eI vVQ / VQ against head of VZH

47. dfadsst (39aede) R & FERRT TErs-— & RN Fl

The working depth of an involute gear is equal to

@
(b)
(c)
(d)

HHQQTGI' (T8s8#) / Addendum
335+ / Dedendum

2 x Tg28H/ 2 x addendum

2 x 338+ / 2 x dedendum

48. §oc o T@AE - e@ry FafRa fhar s &l
Stretching in a belt controlled by

(@)
(b)
(c)
{d)

Joc F FdTS " / decreasing the belt length

HEZ T E.'{\ff dGIehY / increasing the centre distance
gc’_cﬁ ol 7Y dgled / increasing pulley diameter
S &1 Aiadel "cle / reducing the stress in the belt

49. Wﬁﬁ?@ﬁﬁ@ﬁmmm%l

Wire ropes are used for application experiencing

(@)
(b)
{c)
(d)

=7 a1 3R foe=7 I3 / low speed and low tension
e 91T 31 3Ta =71 / low speed and high tension
3= 91T 3R T=e=7 =719 / high speed and low tension
3= 91fd 3R 3= da1d / high speed and high tension
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56.

57.

58.

29.

60.

& AT e ¢

The spring controlled governor is

(a) gIcarel / Hartnell (b)  BTEI/ Hartung

(©) TFRET/ Pickering (d) Wﬂﬂﬂ' / All the above

mﬁ@mmﬁﬁmwméaﬁmmmél

Which of the following is used to store energy and give up whenever required?
(a) Fold/ Clutch ® IR/ Gear
(¢) THE / Governor (dy  FeASIEgeT/ Flywheel

TR & Uerd & &l gAhR 9 AT B WA 30T 4R @ w@afd ¥ IR e 3R ar
YA IXA H N B H S g1 o SRBY IR A & GRETHF TTH F 39T &

Two circular bars A & B of same material are subjected to uniaxial loading. If the diameter and
load acting on bar B is double than that of A, then the ratio of factor of safety of bar B to A is

(a 2 by ¥ (c) Ya (dy 4

fFEY 3T -8 HT il 10 mm x 20 mm 3R & 2 m SIGH I agal
3T g

A column of rectangular cross-section of 10 mm x 20 mm and a length of 2 m. What is the
slenderness ratio of the column?

(@) 503 (b 692 (c) 550 (d) 450

et emvre @ sITw D, FEA # afd T, 3 AsS F Ay M § IR 3Reaw A
eq gldeae, faefaa sftemds sowaor ufdee & RSk § al, M — ¥

A shaft of diameter D is subjected to a twisting moment of T and Bending moment of M. If the
maximum bending stress is equal to maximum shear stress developed. Then M is equal to.

(@) T/2 ) T (€ 2T (d) AT

17 Post Code No. 08
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10.

B TEQISS U e IS TN 3ehsT o AT feam S, g fBfar sear @Feq (a), (b),
(c) YT (d) AW &Nl 397 & U & 3ccl Fev &/ Each objective question is provided with a

text and/or figures wherever applicable with multiple answer choices (a), (b), (¢) and (d).
Only one of them is correct.

HEATR fle W RBE a0 el & & @ 9&l 309 Scadl B fOgkd & a
FHTAIR fc W FE 3 Fae o6 HUAT =AF e Wige FAH H g A F / Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen for
writing on OMR sheet and marking your answers.

I Frgferss gFR & weAl & W ook o A AT I g, PIg IcaT A & W FEF o
MeAd 3cal YT UF 3P FIeT AT & U & fAfaeyr 39 & 9a 3cax A s /Al

objective type questions carry equal marks of THREE for a correct answer, ZERO for no
answer and minus ONE for a wrong answer. Multiple answers for a question will be
regarded as a wrong answer.

g QREdHT % QU 3R F FOU A A A A B A C WD W E RERT fFar wm@wm g S
AR e # (U 70 Fvs 27 Joger H A% A fawen sfad g1 0@ 7 & W 3k
qRec @I ST @@l @l SeE| / Question booklets have been marked with A or B or C or D

or E on the right hand top corner, which is mandatory to be written on the OMR sheet in the
box and bubble appropriately, failing which, the answer sheet will not be evaluated.

HELF g UT IF T & YA H QU a0 Rerd AR T 3UAT AR Tl | 3T A FIS
ofic €7 &r smealr / Space available in the booklet could be used for rough work, if required.
No separate sheet will be provided. s

ﬁmam%%a@ﬁmwﬁﬁ,ﬁwmmmﬂﬁl 3T HeT U §A
&L dUT IIE H FioaT W2 gl ¥ Fohd &1 / Do not waste time on questions, which are too
difficult for you. You can go on to other questions and come back to the difficult ones later.

giiaT & Fard @ W (1) B Roww gu e @@ 1 Fe d4 qur (2) ATHER SRR
g‘fﬁﬂﬁﬂﬁﬁﬁﬁéwwaﬁm#aﬁ'ﬁsﬁ?waﬁmlAttheendof'
the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR

Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances.

T e % offe fre wea § w3 B at, Sfish feawon € ™ 8 / In case of any doubt in any
question between the language versions, English version will prevail.

ook ko
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